
1. Solve the following inequality |2x+ 4| ≤ 5.

A. x ≤− 27
2 or x ≥ 1

6

B. x ≤− 9
2 or x ≥ 1

2

C. 2≤ x ≤ 27
2

D. − 9
2≤ x ≤ 1

2

E. − 3
2≤ x ≤ − 1

6

F. x ≤− 3
2 or x ≥ − 1

6

G. x ≤2 or x ≥ 27
2

H. − 27
2 ≤ x ≤ 1

6

2. Solve the following inequality | − 4x+ 5| < 5.

A. x <− 15
2 or x > 1

4

B. 0< x < 5
2

C. -1< x < 5

D. − 5
2< x < 3

E. x <0 or x > 5
2

F. x <-1 or x > 5

G. x <− 5
2 or x > 3

H. − 15
2 < x < 1

4



3. Solve the following inequality |5(−2x+ 1)− 3(2x− 4)| > 4.

A. x < 13
16 or x > 21

16

B. 13
16< x < 21

16

C. x <− 21
16 or x > − 13

48

D. − 21
16< x < − 13

48

E. − 13
16< x < 63

16

F. 21
32< x < 39

16

G. x < 21
32 or x > 39

16

H. x <− 13
16 or x > 63

16

4. Solve the following equation |3x− 2| = | − 5|.

A. 1
2 or 7

12

B. − 1
2 or − 7

3

C. -1 or 7
3

D. -4 or − 14
3

E. 1
3 or − 7

6

F. 4 or − 28
3

G. − 1
3 or − 7

9

H. 2 or − 7
12



5. Solve the following equation |3x− 2| = |x+ 5|.

A. 7
8 or − 1

4

B. 7
2 or − 3

4

C. − 7
4 or 1

4

D. 7 or − 3
2

E. -7 or − 3
16

F. 21
2 or − 9

4

G. − 7
8 or 9

4

H. 7
4 or 3

6. Solve the following equation |2x| = 1.

A. 1
4 or 1

8

B. 1
8 or -1

C. − 1
8 or − 1

4

D. 1
2 or − 1

2

E. -1 or 1
2

F. − 1
4 or 2

G. 1 or 1
4

H. − 3
2 or − 3

2



7. Write the interval pictured below using inequality symbols.

1

A. x<1

B. x>1

C. x≥1

D. x≤1

8. Solve the following inequality | − 1(3x− 2) + 1(5x+ 2)| ≥ 3.

A. -14≤ x ≤ − 1
8

B. − 21
2 ≤ x ≤ − 3

2

C. x ≤− 7
4 or x ≥ − 1

6

D. x ≤− 21
2 or x ≥ − 3

2

E. x ≤-14 or x ≥ − 1
8

F. − 7
2≤ x ≤ − 1

2

G. − 7
4≤ x ≤ − 1

6

H. x ≤− 7
2 or x ≥ − 1

2


